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A STORY OF UNITS

Name

Lesson 5 Homework ﬁ

Date

1. Johnny filled a container with 30 centimeter cubes. Shade the beaker to
show how much water the container will hold. Explain how you know.

N 100 mL - /
80 ml
GO mL s
40mL —- 30wl
20mL —
% A

2. A beaker contains 250 mL of water. Jack wants to pour the water into a container that will hold the
water. Which of the containers pictured below could he use? Explain your choices.
p plainy Ve 25 cmw Zem xSem

/ \V= 250 ow’

A

6cm ,‘/
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3. On the back of this paper, describe the details of the activities you did in class today. Include what you
learned about cubic centimeters and milliliters. Give an example of a problem you solved with an

illustration.

EU REKA Lesson 5: Use multiplication to connect volume as packing with volume as filling
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